Please assist me in solving these equations.

A. Solve and find solution to X

15x^4 -13x^2 + 2 = 0
1. Solve and find the solution for X

  w^2 – 6w – 27 = 0
2. Solve and find the solution to X

X^2 + 14x – 4 = 0

B. Multiply

(r + d) (r^2 – rd + d^2)

1. Multiply

(-3n)^2(2n^7)^2

E. Find the solutions. What is/are the solutions of,

a^2 + 5a – 14 = 0

F. Subtract the polynomials

(-8r^2 + 7r + 3) – (7r^2 + 3)

G. Perform the indicated operations and simplify. These are fractions but I was not sure how to type them.

x – 4 –  x + 1 +   x - 30
x - 6     x + 6      x^2 – 36

H. Add to find the answer

(4a^4 – 2a^3 +2a^2 + 13a – 8)+(a^5 + 8a^3 + 8a^2 - 2a + 6)+(-7a^4 + a^2 – 9a -9)

1. Add to find the answer

(2x^2 – 8xy + y^2) + (-5x^2 – 5xy – y^2) + (x^2 + xy – 4y^2)

I. find the x-intercepts for the graph of the equation  y = x^2 + 2x - 3

J. Solve for x

4x(x – 8) – 5x (x – 7) = -4

K. Find the trinomial

r^3 – 4r^2 – 21r =

L. What is the value of the discriminant? Does the equation have one real solution, two real solution or two imaginary solutions. 

 19x^2 – 9x +19 = 0 

M.    9a^2                      .                   4a – 12  =

4a^2 – 24a + 36                                  3a  

N.  Factor, Is the polynomial prime?

a^2 + 14a + 49 = 

O.  Multiply

(3x + 5)(2x^2 + 4x + 6)

P. Use the FOIL, method to find the product.

(5x^8 – 5)(x^9 – 2) =

Q. factor completely

16c^2 + 9 – 24c =

Q.  Factor completely

3x^8 – 9x^7 + 24x^6

R.  solve, the solution set is (xI___)

(x + 18)(x – 4)(x+3) > 0

S. Subtract, simplify if possible.

 7-y  -  8y – 9
Y – 4        4-y

T. Evaluate the polynomial for x=5

2x^2 – 5x + 4 = 

